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CHAPTER P | Prerequisites

Completely factor the polynomial.

1. 5¢% — 1527 2. 16x* — 9
3. 9x2 — 6x + | 4.9 + 12y + 4y°
5. 22+ 47+ 3 6, 1% — 13z + 50
7.3 + 8x — 3x? 8. 3x* — 46x + 15
9. ¥ +s2—4s—4 10. y* + 64
P.4 Exercises
In Exercises 1-10, find the domain of the expression. s 3 3_x(7 J
"x-3 x2-3
1. 3x2 — 4x + 7 2, 242 + 5x — 2 ’; (’i )EC )
3. 40+ 3, x20 4. 6x2 -9, x>0 16. — =" Z3Z+ e
_ I x+ 1 ¢
o - 6.
&= 25+
v — 1 ot 1 In Exercises 17-30, write the rational expression in
7. = p 8 s reduced form.
x> — 4x X —
— I 15x2 18y2
9. Jx +1 10. - 17— 18 -
5 | 10x 60}'5
19 *3£y7 20 w
In Exercises 11-16, find the missing factor in the Ty +ox g
numerator so that the two fractions will be equivalent. x—5 295
21. ———— . =
5 . 5(E%) 10 — 2x e =
11, — = — 3 =0 2 + 2 _
2x 6x° 23. £‘A25x s 24. “:—Hgi_gg
3 _ 3(E) x* =4 X2+ 1lx+ 10
2 a 5, YTy 12 e
-2 20 ——————
x+1  + 1) ) y o+ 3y - 18 x2+ 11x + 10
13. = e s Y — + 2 o B Z
X xx — 2) 27 bl e 28. — x7__2_/9
sy =4 _ Gy - H2) R e
- y+1 3% — | 29 L -8 y -2y =3
S 30.
Z + 22 + 4 y3 uE 1

Oz




In Exercises 31 and 32, complete the table. What car
vou conclude? ]

ik 0]t 2]3]4]5 s
Xe=2x—=3 | T T
sohatt B
x+1 T O
;-—__—;_“\——H
32. X ? 1 ? 3 TTT
x—3 T T T
x2—=x—6
: I SR N
xit 2

33. Error Analysis Describe the error.

T 58 5

— e

AT T T 246

34. Think About It s the following statement true for
all nonzero real numbers a and b? Explain.
ak—b

== =
b — ax

In Exercises 35 and 36, find the ratio of the area of the
shaded portion of the figure to the total area of the
figure.
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In Exercises 37-50, perform the multiplication or
division and simplify.

AR Sul
x—1 25(x—2)

G -3

r+ 13 . xx—3)
" x3 - x) 5

39.

x+2 (x + 5)(x + 2)
—~ +
40, (x —9(x+7) X
x+ 1 9 —x
2
- 1 gl == ]
4l ror = 42, 4y - 16.2)7+6
r— 1 T Sy+15 4-y
B g
43, 1°—1-6 . t+3
tP+6t+9 2—4
P2 =8 4
44. 7 et -
2y° Y= — 5y + 6
2 ' B 2,2
45. X ?ir), S -
x4+ xYy x2 + 3xy + 2y?
3 — 1 2+
46. A :
x+1 x2—1
- +y -
47, 3£Ay)+x y 48, x+ 2 _7x'7727
4 2 5x—=3) 5(x-—3)
[,ﬁz_.__ -1
(x + 1)? %
49, - 50. —

In Exercises 51-64, perform the addition or subtrac-
tion and simplify.

5 X 2% = 1 l—x
51, ——— + 52—+ —
xr—1 =x-=1 X+ 3 x+ 3
5 3
53. 6 — = 54. -
x+3 x—1 :
2
55—+ R -
¥=2 2= =35 35=x
57 2 1
"x2—4 x2-3x+2
X 1
58.

W= 8 gt B



